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Part I: Multiple Choice Test (30 points in total, 2 points each) ¥ A& ' FNEENz TESMELE | BEHEE -

1. Two otherwise equal companies have significantly different dividend payout ratios. Which of the following
statements is most likely to be correct? The company with Aigher the dividend payout ratio:
A) will have a higher inventory turnover ratio
B) will have a lower inventory turnover ratio
C) will have higher earnings growth
D) will have lower earnings growth
E) none of the above

2. According to whose conceptual framework, predictive value is an ingredient of

Whose Relevance Reliability
A) FASB Yes No
B) I[FRS Yes Yes
C) FASB No Yes
D) IFRS No No
E) Both Yes Yes

3. On December 31, 2010, Handrew’s Restaurant had 2,000 gift certificates outstanding, which had been sold
to customers during 2010 for $50 each. Handrew’s operates on a gross margin of 60% of its sales. What
amount of revenue pertaining to the 2,000 outstanding gift certificates should be deferred at December 31,
20107

A) $0.

B) $40,000.
C) $60,000.
D) $80,000.
E) $100,000.

4. Compared to the accrual basis of accounting, the cash basis of accounting understates income by the net
increase during the accounting period of the

Accounts Receivable Accrued Expenses Payable Cumulative Depreciation
A) No No . No
B) No Yes Yes
C) Yes No No
D) Yes Yes "~ Yes
E) Yes Yes No

5. Nokia Corp. reports operating expenses in two categories: (1) selling and (2) general and administrative. The
adjusted trial balance at December 31, 2010 included the following expense and loss accounts:

Accounting and legal fees $140,000
Advertising 180,000
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Freight-in

Interest

Loss on sale of long-term investment
Officers' salaries

Rent for office space

Sales salaries and commissions

80,000
70,000
30,000
225,000
220,000
170,000

One-half of the rented premises is occupied by the sales department. Nokia's total selling expenses for
2010 are

A) $540,000.

B) $460,000.

C) $430,000.

D) $370,000.

E) §310,000.

6. On January 1, 2010, Telekom Co. sold to Tony Corp. $400,000 of its 10%, 4-year, bonds for § 377,670.
Interest is payable semiannually on January 1 and July 1. What is the effective interest rate for the bonds?
A) 13%
B) 12.5%
C) 12%
D) 11.5%
E) 11%

7. On December 31, 2010, Bonn Co. determined that the net realizable value of the receivables was $300,000.

Additional information is available as follows:

Allowance for uncollectible accounts at 1/1/10—credit balance $ 34,000
Accounts written off as uncollectible during 2010 23,000
Accounts receivable at 12/31/10 325,000
Uncollectible accounts recovered during 2010 5,000
For the year ended December 31, 2010, Bonn's uncollectible accounts expense would be

A) $25,000.

B) §23,000.

C) $16,000.

D) $9,000.

E) $5.000.

8. A finm has a current ratio greater than 1.0. If the firm's ending inventory is understated by $3,000 and
beginning inventory is overstated by $5,000, the firm's net income (before taxes), and current ratio will be:
Net Income ¢
A) understated by $2,000
B) overstated by $2,000

Current Ratio
too high

too low
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C) understated by $8,000 too low
D) Overstated by $8,000 too high
E) understated by $8,000 too high

9. On May 35, 2010, Dougal Corp. exchanged 3,000 shares of its $25 par value treasury common stock for a
patent owned by Mark Co. The treasury shares were acquired in 2009 for $30,000. At May 5, 2010, Dougal's
common stock was quoted at $35 per share, and the patent had a carrying value of $85,000 on Markt's books.
Dougal should record the patent at

A) $75,000. '
B) $85,000.

C) $90,000.

D) $105,000.

E) none of the above.

10. On January 2, 2010, Brigham Corp. replaced its boiler with a more efficient one. The following information
was available on that date:

Purchase price of new boiler $150,000
Carrying amount of old boiler 10,000
Fair value of old boiler 4,000
Installation cost of new boiler 20,000

The old boiler was sold for §4,000. What amount should Brigham capitalize as the cost of the new boiler?
A) §170,000.
B) $166,000.
C) $160,000.
D) $150,000.
E) $146,000.

11. A machine with a five-year estimated useful life and an estimated 10% salvage value was acquired on
January 1, 2009. The depreciation expense for 2011 using the double-declining balance method would be
original cost multiplied by

A) 90% x 40% x 40%.
B) 60% x 60% x 40%.
C) 90% x 60% x 40%.
D) 40% x 40%.

E) 60% % 40% x 40%.

12. On January 1, 2007, Tesco Company purchased a copyright for $1,000,000, having an estimated useful life
of 10 years. In January 2011, Tesco paid $600,000 for legal fees in a successful defense of the copyright.
Under IAS 38, copyright amortization expense for the year ended December 31, 2011, should be

A) 80.

&
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B) $100,000.
C) $110,000.
D) $160,000.
E) $600,000.

13. Which of the following statements is correct?

A) The more efficiently a company utilizes its assets the greater its return on investment, all other
things being equal

B) If return on equity increases, the return on assets must have also increased

C) If the number of days inventory is held increases, then return on assets will increase, all other things
being equal

D) If the gross margin decreases, then inventory turnover must have increased all other things being
equal

E) None of the above

14. If the market is semi-strong form efficient, this implies that:
A} stock prices fully reflect all inside information
B) stock prices do not reflect information contained in past trading volume
C) stock prices fully reflect all information found in annual financial statements
D) stock prices fully reflect all information about future price changes

E) statement of cash is more useful than other financial statements

15. Under the accrual basis of accounting, which of the following statement(s) is/are frue?

I. Reported net income provides a measure of operating performance

1I. Revenue is recognized when cash is received, and expenses are recognized when payment is made

TII. Cash inflows are recognized when they are received, and cash outflows are recognized when they
are made

IV. Accrual earnings is regarded as a superior measure of firm performance than cash flows because it
mitigates timing and mismatching problems inherent in measuring cash flows over short intervals

A) Tand Il

B) Il and III

C) Iland IV

D) I, I, and IV

E) I,1Iand III
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PRESENT VALUE OF 51
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periods 1 2 3 4 5 6 7 ] g 10
2% 0.5803%2 0.961159 0.342322 0.923845 0.505731 0.887971 0.870560 0.853480 0.836755 0.820348
3% 0.970874 0.942556 0.915142 0.838487 0.862509 0.837484 0.813092 0.789409 0.766417 0.744094
4% 0.961538 0.924558 0.888996 0.854804 0.821927 0.790315 0.755918 0.730690 0.702587 0.675564
5% 0.952381 0.907029 0.863838 0.822702 0.783526 0.745215 0.710631 0.676833 0.644609 0.613913
3% 0.925926 0.857339 0.793832 0.735030 0.680583 0.630170 0.583490 0.540269 0.500249 0.463133
10% 0.909091 0.826446 0.751315 0.683013 '0.620921 0.564474 0.513158 0.466507 0.424098 0.385543
12% 0.892857 0.797194 0.711780 0.635518 0.567427 0.506631 0.452349 0.403883 0.360610 0.321973

PRESENT VALUE OF AN ORDINARY ANNUITY OF 51

periods 1 2 3 4 5 6 7 3 9 10
2% 0.980352 1.941561 2.883883 3.807725 4.713460 5.601431 5471991 7.325481 8.152237 8.982585
3% 0.570874 1.913470 2.828611 3.717098 4.579707 5.417191 6.230233 7.019692 7.786109 8.530203
4% 0.961533 1.888085 2.775091 3.629895 4.451822 5.242137 6.002055 6.732745 7.435332 8.11089%
5% 0.952381 1.855410 2,723248 3.545951 4.328477 5.075652 5.786373 6463213 7.107822 7.721735
8% 0.925926 1.783285 2.577097 3.312127 3.992710 4.622880 5.206370 5.746639 : 6.246888 6.710081
10% 0.505081 1.735537 2.486852 3.169865 3.790787 4.355261 4.868419 5.334926 5.759024 5.144567
12% 0.892857 1.690051 2.401831 3.037349 3.604776 4.111407 4.563757 4.967640 5.328250 5.650223
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& ANE 2010 FHFAaL 0 2010 FREEAUNTHEEATRAMFLFEREERRBEMA L E 1&

e

#H { R ANER $5,000,000 | M E Z $ 1,000,000
HHARA 2,000,000 | BE#E A 30,000,000
HERA 600,000 | 7%y &1 1,000,000
w2 H A 800,000 | &4 & 1% 10,000,000
HERA 300,000

FELER 400,000
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